TRERE 7T 1A 43

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH

BEBNRENERLEL.

P

a2
0 HE

RAIE

ECR 8478

FERR

NEEEEL100ZE
TR EE LW ENNE
il R AT i

fit B3R 600 VAC / 710 VDC, & EN 50155 (§£3%)

MERE G Er HEE @ +25°C HAYE +0.3%FS HA(E
(£ 0.5%FS BaBY(E, + 1% FS BaBL(E)
WETE 0..0.1E0...60 bar NRERE -25°C ... +125°C
0..15%0...1000 psi
BLES 4..20mA NERE -25°C... +125°C
NLH @25°C (BSL) B8R = 0.2 FS BARU{E (+ 0.3 FS BAR!(E) HE/ A8 EN 50155 (£28)
EN 45545-2 (B5A)
Trafag sensors & controls Industriestrasse 11 +4144 9223232
Switzerland 8608 Bubikon www.trafag.com

sensors@controls

03/2022

HUER HT2337i

EEE SR



EhiEn

BN

WihES

H72337i

EE
[bar]
0..0.1

..0.16
.02
.04
0 O
o ILfD)
o ILfD
.25

© o o o oo 2

= =

HIREMME

HENSESD, 74K /8O / 5055 1.4305 (AISI303) 2
5)

[bar]
1.2
12
12
12
1.2

32

12
20
32
50
80
120

12.5
20
30
50
80

125
200
300

1RBED
[bar]

NN NN

w

7.5
12
15
25
40
75

100

180

AfFEE

18
30
48
75
120
180
300
480

HEXSEESD, A48 E /730 ] 5h5R: 1.4404/1.4435

(AISI316L) ¥

YIRS, MK S8 / 5M5E: 1.4305 (AISI303)
5)

BXIEN, MK ESHEED [ 5h55: 1.4404/1.4435

(AISI316L)2
G1/4"5MES

G1/2" 4MBLL DIN3852-E, Hpgs 2910

G3/4" FifRAR 2 ©

66
67
68
69
70
71
73
75
76
7
78
79
80
81
82

55
56
57
58
59
60
61
62

ffist#k EN 175301-803-A (DIN 43650-A), #4% PA

{@EHEK M12x1, 5 §F, PBT A2k}

1H %L Packard Metri Pack, Mat. PBT

RAhiES
4..20mA

kg

(U e 9V)/20 mA

EE BE
[psi] [psi]
0..15 15
0..2 15
0..25 15
0..5 15
0..10 20
0..15 30
0..20 40
0..30 60
0..50 100
0...100 200
0...150 300
0...200 400
0..250 500
0...400 800
0...500 1000
0...1000 2000
REREMEN
f)ESFJEjJ, L EAEO /SR
MESES, MR E3E0 [ 9hE
(AISI316L) ¥
f)ﬁiﬁl:_tjj, R EAREO /SR
HESE, MR ESEO ) SR
(AISI316L) ¥
1 (f#e8)
%E012/8

1RIED
[psi]
30 F6
30 F7
30 F8
30 F9
30 GO
45 Gl
70 G3
90 G5
150 G6
250 G7
375 G8
600 GA
625 G9
1200 HO
1250 H1
3000 H2
: 1.4305 (AISI303) ¥
: 1.4404/1.4435
: 14305 (AISI303) ¥
: 1.4404/1.4435
U (ftEB)
9...30VDC

ECR 8478

8478. XX XX XX XX XX XX

17
59
52

05
385
51

19

sensors <0 controls



Boff

8478 . XX

T FKM (-20°C ... +125°C)

4 CR (-25°C ... +100°C)

Z4} EPDM (-25°C ... +125°C)

EAEERRTH ¢ 1.0 mm, #4$11.4305 ¢

ENIEERETTH 0 0.4 mm, #4%11.4305(5 R2854, 57, 84, 87) 31.4404 ({27433 56, 59, 86, 89) ¥
HEFLIESKEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, W FHELER 4 ... 9 mm, BHA 2 ZE ULI4-VO0
HEFLIESKEN175301-803-A (DIN 43650-A)/EE#AE, -40°C ... +125°C, S F B ER 4 ... 9 mm, Bk 49328 UL94-V0
HEFLIESKEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, S FHELER 4 ... 9.5 mm, Bk 52 UL94-V2
$EFLEESS M12x1, 5 5

KRS | &R HE T 1+, 5T 2 - (FOEB3SAESk EN175301-803-A / DIN43650-A)

KioRa | o fm 1S 1+, $@% 3 -, 1T 5 15t (A FA R s A%k 35,M12x1,5 1)

YRS | AR R  dl st 1+, 4%t 3 - ((UEREST K Packard Metri Pack, 3 £t)

S ORINTIER EN175301-803-A (DIN43650-A), AFREIE (&A 85°C)

ZaE"

VEFERENEENSELE

2 B {AIR

3 A 40 bar 8 500 psi

42 1bar

SR FEHEOLT (1.4305)

DITEHENIZ 50 BfEE, AFEBSED 0535
O MERTFEAED 52

) (BT B REMEMEREE

0 K 16 bar / #BE 32 bar

)
)
)
)
)
O (R TF1E %28 56, 86 (FRREAMR) A [E/I5ERE < 25 bar 400 psi
)
)
)
0)

ﬂ BETNESEE: FHEER R T 0 bar (140 -1 bar - 0 bar)
REBAE 3T 0 bar U THNETEE, 55 4... 20 mA (113 19),1... 6 VDC (£H3 16) #1 0 ... 10 VDC (XE3 17) , AT LU TR AROH. 55 F =4 0 bar,
5L A MTE -1 bar 71 -0.1 bar 8] B &R I W ERRHECEE,

H72337i

$m3/8

ECR 8478

XX XX XX XX XX

61
62
63
40
44
46
56
58
33
92
94
E4
L9
VM

sensors <0 controls



ECR 8478

B EIE BHiES [ HBBE 4..20mA: 24 (9...30) VDC
EFtedial BAME 1 ms/10...90 % FEES
EBIbR 100 ms
RERERF, 5BRKEE @ 25°C,5 A 4,.20mA: &K U,=30VDC
MR NREE -25°C... +125°C
MERE -25°C... +125°C
PhiRgER v IP65, IP67
nE 5K 95 % tENHE
it 15 g RMS (20...2000 Hz) (EN60068-2-64)
25 g sin (80...2000 Hz), 1 oct./min, (1x @ 25°C)
(EN60068-2-6)
& 50g/11ms
100 g / 6 ms TSk M12x1 (EN60068-2-27) ¥
EMCEHREE L= EN/IEC 61000-6-3
EN50121-3-2
TG EN/IEC 61000-6-2
EN50121-3-22
ke ¢ fERkEs (N R) 8%, AL,O, (96 %)
ENEO (FRAR) 1.4404 (AISI316L)
s 1.4404/1.4435 (AISI316L)
B FKM 70 Sh, CR, EPDM
e SIITHER
2 ~110g
RHEHE 15...20Nm
VBN EBSEE
2 BB EE, BRI
) FFESEN35
RE
f&R%38 57/87/59/89 {&43% 54/84/56/86
EhNEER [bar] 20..1 >0..03 >0..02 >0..0.1
<0..0.3 <0..0.2
Option 5P (Codes 55-59)
[psi] >0..15 >0..5 >0..25 >0..15
<0..5 <0..25
RIZES @-25... +85°C [% FS BaA(E] 3.0 +1.0 +20 +30
BE @+25°C [% FS E1EI(E] 105 103 05 t1.0
NLH @ +25°C (BSL) [% FS #a8(F] +0.2 +0.2 103 +0.3
TC ZRREMERTERE [% FS/K B2BY{E] +0.03 +0.02 +0.02 +0.02
1 FRKRE @ +25°C [% FS B8 E] +0.3 +0.2 +0.2 +0.2
H72337i BT 4/8 sensors@controls




£ 228 54/84/56/86
0..0.1%0...0.16 bar
:
5 — == A
4 ey — .
: — 7 ~—— = [ —— .
S S
g ! .
= g [ | |—o—| \\ ]
. =1 =
6
7—40 30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120 1
max. — —  typ. —— [ TEB(-25...+85) Temp. (°C)
{2433 54/84/56/86
>0...0.40 bar
7
6
5
'
. 3 = _’/,_
g S= =
z ! — ==
I e T I e — = e e ] B e s
g 1 e
< 2 — = =
3 —— ~ -
4
5
6
7
-40 -30 20 10 0 10 20 30 40 50 60 70 80 90 100 110 120
max. — —  typ. —— I TEB(-25...+85) Temp. (°C)

PN ARKLE $X88

ECR 8478

f&£/%23% 54/84/56/86

£0...04b
0..0.2%20...0.4 bar
7
6
5
4 -~ —
—_ : ~ 4 —|
& 2 — ~— [E—
= 1 L —
o 0 4+ - -4 — = |- e e e e — - —
S ]
éf 2 —T |——| T——
3 — T =
4 - "
5
6
-7
40 -30 20 -10 0 10 20 30 40 50 60 70 80 90 100 110 120
max. — —  typ. —— [ TEB(-25...+85) Temp. (°C)
{238 57/87/59/89
=0...1bar
10
9
8
7
° ™~
5 —f
4 Sy
3 —] Iy L — —
®? —
T I s s I
s =
< 2 —~
3 — = = —]
4 e ~|
5 | ~
s N
-7
-8
9
-10
40 30 20 -10 0 10 20 30 40 50 60 70 80 90 100 110 120 130

max. — —  typ. I TEB(-25...+85) Temp. (°C)

MER Y b EN 60068-2-1 Ab: -25°C, 2 h (RiE1T)
Ae:-25°C, 1 h (iB1TH)
T EN 60068-2-2 Be: 85°C, 6 h (iE1TH)
o, BIF EN 60068-2-30 Db: 55°C, B85 1.2 f&#F (2x 24 h)
IRshA$T & EN 61373 iRzh: 2503
& £HI309
it E52E EN 50155 600 VAC /710 VDC
45 eBH EN 50155 >100 MQ, 500 VDC
TAERE XK EN 45545-2 EE:<10g
(BF®BS#EO01,32,35) RiE: < 0.2 m?
B HERE EN 501552 24V
=yl EN 501552 $BRIS1
TEFRTHER R (1) EN 501552 $RiIc1
UERTF SR 3 M 2010 FRASER B AR E
VET5 5.1 MG
3 BB AMASKEN 175301-803-A, 251 2
H72337i 28T 5/8 sensors@controls




8478.XX.XXXX.05.XX.XX

39 25.5

40 21

0295
Sw27
027

027

84T78.XX.XXXX.51.XX. XX

332 21
S| & 1.4305

§ INESTRSY

=3

8478.XX.XX52.35.XX.XX

332 255

027

0338
SW32

8478.XX.XX52.51.XX.XX

H72337i

1.4305

o~
~
S

8478.XX.XXXX.35.XX.XX

33.5 25.5
|
1

2~

g &

[ SRR S

8478.XX.X417.51.XX.XX, = 1.0 bar
8478.XX.X617.51.XX.XX, = 1.0 bar
8478.XX.XT17.51.XX.XX, = 1.0 bar
8478.XX.X917.51.XX.XX, = 1.0 bar

26.7

=

8478.XX.XX52.35.XX.XX

027

0338
SW32

26.7 ‘ 25.5
S

ss

Q|

8478.XX.XX52.51.XX.XX

$6/8

ECR 8478

~
(9]
(S}

0295
SW27

8478.XX.X417.35.XX.XX, = 1.0 bar
8478.XX.X617.35.XX.XX, = 1.0 bar
8478.XX.X717.35.XX.XX, = 1.0 bar
8478.XX.X917.35.XX.XX, = 1.0 bar

sensors <0 controls



G1/4"

~

<
)
=

?5.05x3U

Seal o?
DIN3869 &

| I I%
~
N
=
w

8478.XX.XX17.XX.XX.XX

Bore
M2:1

14 3115

?15.5

g\i, —

G1/2"
DIN3852-E

8478.XX.XX59.XX.XX.XX

fets | 81
=
Ral.6

@23 H8

5.5

M3

15 16 31-32with male thread
2.8
2 e z8
o™ o H - -
. =
— 0-Ring
@20x1.5 s N~
16 Sealing DIN/ISO 3869 a2 a
23.9x29.2x1.5
8478.XX.XX52.05.XX. XX
27 5.5 27
| |
; i
| & P
_ 1) 2 1)

1)Tightening torque 50...60 Ncm

8478.XX.XXXX.XX.XX.46/56

H72337i

1) Tightening torque 50...60 Ncm

8478 XX.XXXX.XX.XX.58

#m1/8

ECR 8478

G3/4"

16

023
050

G3/4" BiFEE (AISI 316L)

i

115 C27805

54...60

~(020

(I

FI8

8478 XX.XXXX.XX.XX.33

sensors@controls



ECR 8478

BSiEO
B EELT [
|1P65*) P67*) P67
TkrsE M12x1 Packard Metri Pack
EN175301-803A 5% 3-1k
05 35
. 3 2
== 5
®
ED1+23 .
4
1
= %3 92 o 94 Lini:3 E4
P -—H—@ Us (pos. Supply) 2 1 4 1 1 1
4-20mA'_'_:_@ Us (neg. Supply) 1 2 1 3 2 3
|
| -+ t—+@ Earth (housing) @ © 5 5
T Shielg**»
8478.XX.XXXX.XX.19
N ERIRBIIE REMNGFLIELEX

BT P S B R O R AR LR K

X IR www.trafag.com/H72337
1RIERBA www.trafag.com/H73324
IMRF www.trafag.com/H70603

H72337i

%87 8/8 sensors@controls



